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&6 | I3 K ¥ W |ZFHFE| 50m 30m 5 8 10X| X wm =
1 6 A BB RE FEZREN 2 282 297 579 5 0
2 118 A I3 FRLIOM 2 263 304 6567 4 1
3 | 3A ERA i@ FEZRN 2 258 304 562 3
4 | 48 RE BX 23 2 256 304 559 10 2
5 |128 Wi 185 FRLIOM 2 239 309 548 10 5
6 |108 xR R E 2 243 299 542 1 4
T ] 5A M BB FEERA 2 251 285 536 13 4
8 |12A FE X T8 2 234 301 535 13 4
9 | 2A B KIT FEXR 2 232 294 526 4 3
10 | 4A Pk 0B FEERA 2 220 296 516 1
11| 98 BB =3 R E 3 206 298 504 6 2
12| 7A EH 8% FEERA 2 216 287 503 10 1
13 | 58 FBR && 2m3 2 224 268 492 5 2
14 | 8A PN R AN N 3 194 293 487 6 4
1% | 18 2% B8 R 3 220 257 47T 1 1
16| 78 AB 15 R E 3 197 263 460 5 0
17 |10 A BO B BRI RS 3 187 21 458 9 4
18| 28 wkras B RIIHBE 2 186 268 454 1 0
19| 88 ABAM EE R E 3 194 268 452 1 1
20 | 68 BH iti% B 0 2 191 258 449 3 0
21 | 38 HE X0 2m3 2 183 260 443 4 3
22 | 9A &R = BRI RS 3 142 278 420 4 1
23 |11 A MW Kig BRI 2 162 219 381 2 1
24 | 1A HFE B FEZR 3 95 235 330 1 0
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1 |15A g =XphH FEZRN 2 211 318 589 8 4
2 |178 B0 8= B D 2 260 293 653 10 4
3 |138 BPE HidH 2m3 2 224 307 531 8 3
4 |18A =K BEFF R 2 223 275 498 5 1
5 |16 A AR X PN N 3 219 273 492 5 3
6 |148 BB KB B D 2 220 271 491 4 1
T |158B SH 7=2%H B 0 2 233 253 486 5 2
8 |1TA 2B F= BRI RS 2 208 264 472 4 0
9 |168 Rl & B 0 2 212 257 469 5 1
10 [18¢C XiFE BEMi FWOM 3 183 286 469 6 4
11 |14 A B 3 FEZRN 2 214 253 467 4 1
12 [13A BmE B FEERA 2 187 265 452 5 1
13 |18 B B 0nd FWOM 3 166 288 444 5 0




